CW: 71.8- Substitution- Pay 3 Nawe:
Which equation would you solve first and for which variable?
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1) At the school musical, student tickets cost % and adult tickets
cost 47 In ring, the school sold a total of 195 tickets\for a

total of €1135.

C oyt <
a) Pefine your variables. x=ﬂ9mdm y=+ O 0t
b) Write and solve a linear systew to represent the situation. Q?
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¢) Using w><<)rds, explain your solution in ’rh% E(?ﬁ?ex’r of the sitv ! .6
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4) x-y=0
12x - 9y = 21

6) -6x+3y=18
y: x+6

~lox +3GxT=R
T o+l + 1=\

3) x+yr4 XFA=“
4x+y=1 X X
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